no= M= {{9, -2, 0, 0, B}, {-2,9, -2, 0, 0}, {0, -2,9, -2, 0}, {0,090, -2,9, -2}, {0, 0,0, -2, 9}}
ouwe= {{9, -2, 0,80, 0}, {-2,9, -2,0, 0}, {0, -2,9, -2,0}, {6,0, -2,9, -2}, {6,0,0, -2, 9}}

nfop= Eigenvalues [M]

out[10]= {9+2\/?, 11, 9, 7, 9—2\/?}

1= MM = {{9, -2, 0, 0, 0, @, 0}, {-2, 9, -2, 0, 0, 0, O},

{9, —2, 9; '2,‘ 0, 0: 9}, {0, 0, ‘2: 9) ‘2) 9: 0},

{6, 0,0, -2,9, -2,0}, {6,0,0,0, -2,9, -2}, {0,0,0,0,0, -2, 9}}
ourt1= {{9, -2, 0, 0, 0, 0, 0}, {-2,9, -2,0, 0,0, 0},

{e, -2,9, -2,0, 0,0}, {0,0, -2,9, -2, 0, 0},

{e, 90,0, -2,9, -2,0}, {0,0,0,0, -2,9, -2}, {0,0,0,0,0, -2,9}}

ni121= Eigenvalues [MM]

ouize {9+2~/2+V2 ,9+2V2,9+42~/2-V2 ,9,9-2/2-/2 ,9-2+/2,9-2+/2++/2 }

inf131= N[%]
outz= {12.6955, 11.8284, 10.5307, 9., 7.46927, 6.17157, 5.30448}

inf141= Sort[%]
ougi4= {5.30448, 6.17157, 7.46927, 9., 10.5307, 11.8284, 12.6955}

npisp= MMM = ({9, -2, 0, 0, 0, 0, 0, 0, 0, 0}, {-2,9, -2,0, 0, 0,0, 0,0, 0},
{6, -2,9, -2,0,0,0,0,0,0}, {6,0, -2,9, -2,0,0,0,0, 0},
{6, 0,0, -2,9,-2,0,0,0,0}, {6,0,0,0, -2,9, -2, 0,0, 0},
{6,0,0,0,0, -2,9, -2, 0, 0}, {6,0,0,0,0,0, -2,9, -2, 0},
{6,0,0,0,0,0,0, -2,9, -2}, {6,0,0,0,0,0,0,0, -2, 9}}

ouris= {{9, -2, @, 0,0, 0,0,0,0,0}, {(-2,9,-2,0,0,0,0,80,0,0;},
{0, -2,9,-2,0,0,0,0,0,0}, {6,0,-2,9,-2,0,0,0,0, 0},
{0,0,0,-2,9,-2,0,0,0,0}, {06,0,0,0,-2,9, -2,0, 0, 0},
{0, 0,0,0,0, -2,9, -2,0, 0}, {0,0,0,0,0,0, -2,9, -2, 0},
{0, 0, 0,0,0,0,0, -2,9, -2}, {0,0,0,0,0,0,0,0, -2,9}}



2 | MEigenvalues.nb

nrer= Eigenvalues [MMM]

outf16}= {9 + \/81 +Root [2160801389 + 147165045 11 + 4003 858 1112 + 54394 113 + 369 #1* + 1#1° &, 5

9+ Jsl +Root [ 2160801389 + 147165045 1 + 4003 858 112 + 54394 1113 + 369 1% + #1° &, 4

w

9. \/81 + Root [2160801389 + 147 165045 111 + 4003 858 1112 + 54394 1113 + 369 114 + 11° &,

9+ \/81 +Root [2160801389 + 147 165045 11 + 4003 858 #11% + 54394 1113 + 369 111% + 11° &,

N

=

9+ \/81 +Root 2160801389 + 147 165045 111 + 4003 858 112 + 54394 1113 + 369 11 + 11° &,

N
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9- \/81 +Root[2160801389 + 147 165045 11 + 4003 858 112 + 54394 113 + 369 11 + 11° &,

9- J81 +Root [2160801389 + 147 165 045 111 + 4003 858 1112 + 54394 113 + 369 £#1* + 11° &, 3

9- J81 +Root [2160801389 + 147165045 11 + 4003 858 112 + 54 394 113 + 369 11 + #1° &, 4

[
[
[
[
[
9- \/81 + Root [2160801 389 + 147 165045 111 + 4003 858 1117 + 54394 111° + 369 1% + n1° &,
[
[
[
[

9- Jsl +Root [ 2160801389 + 147165045 1 + 4003 858 112 + 54394 13 + 369 #1% + #1° &, 5

in17:= N[%]
out7= {12.838, 12.365, 11.6194, 10.6617, 9.56926, 8.43074, 7.33834, 6.38056, 5.63499, 5.16203}



